Answers: The quotient rule

Sara Delgado Garcia

Summary

Answers to questions relating to the guide on the quotient rule.
These are the answers to Questions: The quotient rule.

Please attempt the questions before reading these answers!

11 _i(§>:§ﬂ£:2_

Tz _ Tz
Lo i(ijzﬂajkﬁ

13 4 (hl(w)) _1—2In(x)

d ( e ” ) (22 + 13z + 9)e™®
14, —(— " ) =—
de \2? 4 11z —2 (2 + 11z — 2)?
L d (2®+5x -5\  (32*+5)(2® +3) — (2° + 52— 5)(2x)
T de 2+ 3 B (22 + 3)2 '
16 d cos(x) _ —sin(z)(2? + 3z — 1) — cos(x) (22 + 3)
T ode \22 43z —-1) (22 +3x —1)2 '



../questions/qs-quotientrule.qmd

d (tan(x) sec?(x) cos(x) + tan(z) sin(x)
LT dz (cos(x)) - cos?(x)

d In(3z) \ 1 ~ In(3w)
S <ln(5) + x) ~z(In(5) +z) (In(5) + x)2

19 & (5”2 * 35”) _ (22 +3) cos(x) + (2? + 3x) sin(x)

dz \ cos(x) cos?(z)

d (In(z) | _ (23 + 3) — 323 In(x)
1.10. a <$3+3) o $($3—1—3)2

111 S <5tan(x)> _ 5378602(:0)2—5‘5&11(1;).

{10 d (327 —272? +2y/xz\  152%/x + 212°/x — bdw\/o — 42 + 2 + 1
T de x? 41 N Va(z? +1)2 h

113, i <63m> _ _3673:5 6230 o 267330 6233 _ 56,53;
dx e2x el
d 631}3 363—1-301.2 _ 63+xx36x x2€x+3<3 + x)
114, — _ _
dx e(B e2$ 623”
1.15 d v _ 5zt(2® + 1) — z°(5z?) B xt
T\ 1) T @ @)

16 A (tan($)> _ wsec®(w) In(x) — tan(x)

dz \ In(z) z(In(x))?



d (3sin(z)\ _ 3zcos(z)In(z) — 3sin(z)
L7 < n(z) ) = 2(n(z)2

d (tan(z)+5z  sec?(z) + 5 — (3tan(3z))(5z + tan(x))
118 dz ( sec(3x) ) B sec(3x) '

Version history and licensing

v1.0: initial version created 05/25 by Sara Delgado Garcia as part of a University of St Andrews
VIP project.

This work is licensed under CC BY-NC-SA 4.0.


https://creativecommons.org/licenses/by-nc-sa/4.0/?ref=chooser-v1

	Version history and licensing

